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Fitting of data: 20170831 00029 SAXSonly 2020-04-03_15-41-08 Range 1.303e-09 to 5.120e-08, vol-weighted Range 1.303e-09 to 5.120e-08, vol-weighted Range 1.303e-09 to 1.500e-08, vol-weighted Range 1.500e-08 to 5.120e-08, vol-weighted
0.0614 = g (nm~1) = 2.41 totalValue: 1.966e-02 + 7.710e-05 totalValue: 1.966e-02 + 7.710e-05 totalValue: 1.279e-02 + 1.182e-04 totalValue: 6.870e-03 + 1.276e-04
Active parameters: 1, ranges: 1 mean: 1.548e-08 + 1.897e-10 mean: 1.548e-08 + 1.897e-10 mean: 7.302e-09 + 6.801le-11 mean: 3.072e-08 + 4.390e-10
Background level: 6.4 = 0.184 variance: 1.732e-16 + 6.220e-18 variance: 1.732e-16 + 6.220e-18 variance: 1.11le-17 + 4.802e-19 variance: 1.180e-16 + 5.572e-18
( Scaling factor: 1.44e+26 * 5.65e+23 ) skew: 1.232e+00 = 1.422e-02 skew: 1.232e+00 = 1.422e-02 skew: 3.144e-01 = 4.274e-02 skew: 4.757e-01 = 4.021e-02
Timing: 100 repetitions of 0.777 + 0.0994 seconds kurtosis: 3.503e+00 + 6.213e-02 kurtosis: 3.503e+00 + 6.213e-02 kurtosis: 2.222e+00 + 7.610e-02 kurtosis: 2.063e+00 + 7.881le-02
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